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Xl 24,143,000
= 6,584,862
= 19,086,761
SAINE 30, 154,574 40,843,048 N 10,688,474
Xl 20,816,000
== 3,511,000
= 5,827,574
S ASE LA 26,289,574 35,632,748 N9,343,174
Xl 19,116,000
& 3,511,000
= 3,662,574
SN dRFX 12,354 12,354 0
201 et d| 8,354 8,354 0
01 AF 22| H| 8,354 8,354 0
1) B2 H| 1,200
Q)BNEY ARER 100,000& x12& 1,200
EER] 7,154
)T AN A=K O AH|
7,000 *7H 1463 7,154
202 04| 4,000 4,000 0
01 2L Hl 4,000 4,000 0
1)=LH 4 H] 4,000
2)EAMNEY AR2F=X 2O Y
50,000 x5 x 163l 4 000
AE - AT JIEZ A 7,000,000 3,000,000 4,000,000
N 4,900,000
= 1,050,000
= 1,050,000
401 A& HIZL £ 0HY| 7,000,000 3,000,000 4,000,000
N 4,900,000
& 1,050,000
= 1,050,000
01 Al& B 6,983,000 2,989,000 3,994,000
1)t R ~Xtet2t AW Db 2 A
6,983,000,000& 6,983,000
N 4,883,000
= 1,050,000
= 1,050,000
03 AlE 2 HH] 17,000 11,000 6,000
1)t R ~Xtet2t A& W Db 2 A} 17,000,000& 17,000
Xl 17,000
ANEZ2F K22 139,220 108, 394 30,826
201 gBt2dd| 139,220 108, 394 30,826
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02 2=22Z 4l 139,220 108,394 30,826
N33 2 HMA 93,100
QIMEEINZE HIR2
30,0003 *55J A x12& 19,800
2TRHAY EIYE ®II23
100, 0003 #3404 A 12 40,800
QJUEANILS 2,500,000& * 1304 A 32,500
DA EZHI | X 46,120
QL BINZSE RAE U
26K 2 x500, 000 13,000
2)EIHE S A&yl 3404 2+180,000& 6,120
2)2 & X &ell 2008 2~*1,350,000& 27,000
SHEEAX AL ALS 19,138,000 32,512,000 A 13,374,000
X 14,216,000
< 2,461,000
e 2,461,000
401 Al Bl 28I 19,138,000 32,512,000 A 13,374,000
Xl 14,216,000
= 2,461,000
s 2,461,000
01 A& HI 19,018,000 32,352,000 A 13,334,000
NEESTXGNL AL (H =)
16,288,000, 000 16,288,000
Xl 11,366,000
< 2,461,000
= 2,461,000
NEEESHXANL AL (&)
2,730,000,000& 2,730,000
Xl 2,730,000
03 A& =2 THHI 100,000 110,000 210,000
NEESAX G L A 100,000, 000& 100,000
Xl 100,000
04 A2t Al & H| 20,000 50,000 A 30,000
NEEFETRLNL AL 5,000,000%4 A 20,000
Xl 20,000
XSO AL 3,865,000 5,210,300 A 1,345,300
Xl 1,700,000
e 2,165,000
K SO AL 100,000 51,300 48,700
401 Al HI L 2 THHI 100,000 51,300 48,700
01 A& HI 100,000 51,300 48,700
1)56te &2l i & 20,000,000& 20,000
N Z22 WA & 20,000, 000& 20,000
N3 Scl WA A4 20,000,000 20,000
Aol Atsel I AlE 20,000,000& 20,000
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1)erEt BHAZ| i AlE 20,000,000 20,000
S8 =0 SHMHAAY 458,000 669,000 A 211,000
401 AIEHI L 20 458,000 669,000 A211,000
01 A& HI 458,000 669,000 A211,000
NHI2 Ma&k Otserd X% 20,000, 000& 20,000
Nel2 =8 otsetd =& 10,000, 000& 10,000
N2 248 orserd 8,000,000 8,000
NEA EE27 Ot B2 20,000, 000& 20,000
NEA Alel otserd s d 20,000, 000& 20,000
&4 Hliel Orsord Sx g 10,000,000& 10,000
N2 statorg =22 & 15,000, 000& 15,000
nelz2 2olotg =& 20,000, 000& 20,000
NHlz g50ts =& 10,000, 000& 10,000
N2 ugiotsg dgz 2& 10,000,000& 10,000
NEx £8el 15668 Z& 20,000, 000& 20,000
NEA el Ot ot =& 10,000, 000& 10,000
NEAM EE17 28 HYAE XX
20,000, 000& 20,000
Nl 20 88 S22 10,000, 000& 10,000
Nt Ag1el sl S oSty ZE
20,000, 000& 20,000
N swel otsfd ZTEIAM
15,000, 000& 15,000
1ol sl Or2etd ¥ =2 X & S A
20,000, 000& 20,000
N AE0E 27 S2EHEZA
15,000, 000& 15,000
NEE 242 0t o2 =& 20,000,000& 20,000
N =2 0l o2 =& 15,000,000& 15,000
NXeS D&Eel ArFgIX o2 XX 10,000,000 10,000
NS st2elel A7 gz ZIH
15,000, 000& 15,000
NS HA ok I X 15,000, 000& 15,000
NEL ¢$=2 24s sz =%
15,000,000& 15,000
N8 830t o222 & 20,000,000 20,000
ol JrEel ooty & 10,000,000& 10,000
Nl =sE1e2l 022 =& 10,000, 000 10,000
NXE es27 0122 =& 15,000, 000& 15,000
&l stE17 A &X 20,000, 000& 20,000
nNae stsX+ MHAH &X 20,000, 000& 20,000
F0 BOlAY 447,000 940,000 493,000
401 AIEHI L 20 447,000 940,000 A 493,000
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01 A& HI 447,000 940,000 A 493,000
NeEx 20117 28217 &X 15,000, 000& 15,000
NEx 3tE HOE=SE 2ecld &X
20,000, 000& 20,000
Nex 88 FHIE 10,000,000& 10,000
NEx s8el & Htzretol Al
10,000, 000& 10,000
NEM SANESD 27 L BA &3
20,000, 000& 20,000
N S00t2 8= Jl 15,000, 000& 15,000
NE& t=el S0tXl tH==IHA 15,000,000& 15,000
NXE =27 (Z0S) HHAL
10,000,000& 10,000
DXE WP (OIE) T2 HHAIL
15,000, 000& 15,000
NXE Sels= HAAME 10,000,000 10,000
NXE Z2H3IF(HA) HAAE 20,000,000 20,000
DXE Xs27 022 IHWAHAIE 20,000,000 20,000
NYX tolel 205 HAAA 10,000, 000& 10,000
Netst 55 229 Usz4a A4
20,000, 000& 20,000
Netst 28 8=z AlY 10,000, 000& 10,000
Nera AIZX XA X 20,000,000& 20,000
NOIE J2(HS) OlARE AlEE X
10,000, 000& 10,000
e Ol BIZE A& SA 20,000, 000& 20,000
Nets =5 A2 A4 10,000, 000& 10,000
NEL ESEEE FHIFY 20,000, 000& 20,000
N &2 &2 Fl 7,000,000& 7,000
NEA el solots ot L&
20,000,000 20,000
NEA OIAE A2 Fl 20,000, 000& 20,000
Nale AU Z H| 20,000, 000& 20,000
1)otel thelt= X &X 20,000,000& 20,000
1ot 2227 o2k S8 L A
20,000,000& 20,000
1Note séHel d=2d AU US
20,000,000& 20,000
1)6tel séhel =24 il 20,000, 000& 20,000
S¢ JIEtEHIALY 735,000 1,050,000 A 315,000
401 Al HI L 2T 735,000 1,050,000 ~315,000
01 A& HI 735,000 1,050,000 A 315,000
NEI2 WX JHAHAIE 20,000,000 20,000
NEIZ L WA AIE 20,000, 000& 20,000
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NHIZ X 32 & SEHIA 10,000, 000& 10,000
Nel2 =X WAHAIE 10,000, 000& 10,000
Nex 2 HAAMNA 15,000, 000& 15,000
Nel2 €202 A 15,000,000& 15,000
Nela agots WA 15,000,000 15,000
N2 Z0ots WA 10,000, 000& 10,000
NEl2 W=0t2 A 15,000, 000& 15,000
N2 g0t WA 10,000, 000& 10,000
Nel2 T100t2 HA 15,000, 000& 15,000
NEx e £ SEHIAM 15,000, 000& 15,000
Nl AE3e StUEI & a2 Hil

20,000, 000& 20,000
Nl AE3e 32 ¥ a2 Ji

20,000,000& 20,000
nNeol 292 S (BRI =XHE) Fol

15,000, 000& 15,000
N X d=E =& AL

10,000, 000& 10,000
N ta e a8 ZF 10,000, 000& 10,000
o 22el s ti+==2 AUl 20,000,000 20,000
kol AlE32 32 E 2 & +52H &

Xl 20,000,000 20,000

NEE 242 dZ0ig Az S

20,000,000 20,000
1E A1 OF2 i1 =0 20,000, 000& 20,000
DX D& WA A4 15,000, 000 15,000
NXE &3 XM HAAA 10,000,000& 10,000
NAE &< =2 A& 20,000, 000& 20,000
NXE IS37 HAAE 20,000, 000& 20,000
NS Z& 28 HUSHL 7,000,000& 7,000
DX tHolel HAAE 25,000,000& 25,000
DX tolel HWALS HAHAE

20,000, 000& 20,000
NYX stak HAAA 20,000, 000& 20,000
NEZ &4 HIUX B2 JHH 20,000,000 20,000
NEZ Sa(HARA ) =2 AL

20,000, 000& 20,000
et 8 22 A4 20,000, 000& 20,000
N Z212 0t2 A 20,000,000 20,000
NEA WA12| 02 & A 13,000,000& 13,000
D& S22l ot2 WA 20,000, 000& 20,000
Nalel AM3T HALXR 20,000, 000& 20,000
Nalo ots17 SHO0tS ot HA

20,000, 000& 20,000
NAo HNMIUZ A2l R4 20,000, 000& 20,000
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20,000,000& 20,000
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20,000, 000& 20,000
ot &3 &2 ¢ HA 20,000,000 20,000
SIS XNEAY 2,125,000 2,200,000 275,000
Xl 1,700,000
= 425,000
401 AIEHI L 2 CHYI 2,125,000 2,200,000 AT75,000
Xl 1,700,000
[ 425,000
01 A& HI 2,110,000 2,185,000 275,000
NSEUIsREL AIEAY  2,110,000,0008 2,110,000
Xl 1,688,000
s 422,000
03 A& 2 THHI 15,000 15,000 0
NEEUIsSREL AEAY 15,000, 000& 15,000
Xl 12,000
[ia 3,000
g2 ds 204,700 100,700 104,000
< 54,200
i 150,500
H==2F2el T 50,700 50,700 0
== 22 X3 50,700 50,700 0
101 @124 dl 26,000 26,000 0
04 JIZHHZ2XREES 26,000 26,000 0
Nl==2& AId2 % ordzte|
50,0002 * 1 x40 « 1300 & 26,000
201 ¢er24] 24,700 24,700 0
01 AL 22l 4,800 4,800 0
1) Bt 2l 4,800
Qo= 28 2E57Y 1,800, 000& 1,800
Qo= EEE ME 3,000,000& 3,000
02 2324l 10,900 10,900 0
N33 2 HMA 8,400
Q)M-2F 2E AMEE 2223
50,0003 1401 2«12 8,400
NAIZ ZHI KX 2,500
) +==2& ANEE sA&eldl  2,500,000& 2,500
03 A2 S Hl 9,000 9,000 0
1) AH2 Z I 9,000
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[= 34,200
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OE AS O 5,470,230 4,862,997 607,233
= 27,600
X 3,327,000
[ 189,780
= 1,925,850
HESEHNY 5,415,030 4,793,397 621,633
X 3,327,000
[ 181,500
= 1,906,530
MAAE =z 7,530 18,897 A11,367
201 Lty 2,730 1,820 910
01 AL ZH 2l 2,730 1,820 910
)22 2,730
2)NUAE AREZR [f Al
7,000 *3% 1303 2,730
202 04 Hl 4,800 3,200 1,600
01 2L 04 b 4,800 3,200 1,600
D20 4,800
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OHESSNLAY 1,210,000 514,000 696,000
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Xl 843,990
= 180,855
e 180,855
03 AIE =2 THHI 4,300 3,000 1,300
ot HESEMLAY 4,300,000 4,300
Xl 3,010
< 645
s 645
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Xl 480,000
s 206,000
401 AIEHIZ 28I 686,000 600,000 86,000
Xl 480,000
i 206,000
01 A& Hl 681,700 596,000 85,700
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03 A& S THHI 4,300 4,000 300
1)t HHI ALY 4,300,000 4,300
Xl 3,000
s 1,300
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Xl 2,000,000
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201 Let24d] 11,500 10,500 1,000
01 At 22l 1,500 1,500 0
1) Bt =] 1,500
)AL AY SEZTHA 150,000 105 1,500
02 23=24gHl 10,000 9,000 1,000
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Xl 2,000,000
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NXLAHAEALAS 2,491,000,000& 14 2,491,000
X 1,992,800
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NXLAHAEALAS 9,000,000 9,000
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O 2 XIS 2 ALY 1,000,000 1,150,000 A 150,000
401 AIEHI L 20 1,000,000 1,150,000 A 150,000
01 A& tl 993,700 1,000,000 A 6,300
Nl 2P S8 WSS A
993,700,000& =14 993,700
03 Al 2 0HHI 6,300 0 6,300
Nl E2XUF SR+ WSS A
6,300,000 6,300
EME0tsxy 55,200 69,600 A 14,400
= 27,600
< 8,280
[ia 19,320
HEMEOIS AIRZE e1dd XA 55,200 69,600 A 14,400
= 27,600
< 8,280
[ia 19,320
401 AIEHI L 20 55,200 69,600 214,400
= 27,600
< 8,280
[ia 19,320
01 A& HI 55,200 69,600 214,400
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= 27,600
= 8,280
s 19,320
Nge2Adand 1,054,983 552,373 502,610
< 92,000
[ia 962,983
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1) Bt =] 59,538
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2)SOCAIEY FX A9 ST I
450,000 *30H 424 5,400
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7,000% «2H %1502 2,100
)P RFX O AL 7,000 10 253 1,750
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202 044l 4,000 4,000 0
01 SLHOIYI 4,000 4,000 0
1)= L od i 4,000
2)EZ2ANE HRFX FUHMYI
50,000 «2H »402 4,000
NSE2 KX 2HelAY 842,595 411,735 430,860
= 92,000
s 750,595
101 @124l 171,961 161,061 10,900
= 92,000
[ia 79,961
03 R AHAAN2Z2NHE =+ 92,000 81,100 10,900
1) NYe 42 oAy 92,000,000& 92,000
=) 92,000
04 JIZtHZ22HEE =+ 79,961 79,961 0
NE2UEETANE(2E) 9,961
2123 65,8803 x6H 25 & 9,882
QLW EEE 79,000& 79
NEAZH T2 FUI (2 HIOI)
50,000 «56H 10 23] 145 H 70,000
201 LEt2A | 60,634 50,674 9,960
01 AtR 22l | 3,270 3,270 0
DETETEE= 4] 2,820
)MHNEINEMT M 60,0002 *47 2,820
Negsy 450
DERBBMOIY S BALY
150,000 32 13| 450
02 =224l 57,364 47,404 9,960
Na223 2 MA 57,364
2)¢E - T W JES MI=
830,000 404 A +12& 39,840
2)2& 2 HB0IBs 7Y cotv AEHU LA
= 19,000 330 A+ 123 7,524
)T - T JI2S A A2l
10,000, 000& 10,000
207 RO 60,000 0 60,000
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01 A3 Z29H| 60,000 0 60,000
NESHLEZE 24 JI2AeEs+E Y
20,000, 000& 20,000
YE P2 XN A+ B
20,000, 000& 20,000
NEEAGU EXNSH Hatg 2EEH
20,000, 000& 20,000
401 A& HIZ 201 bI 550,000 200,000 350,000
01 A& HI 546,400 198,560 347,840
NAYgEz WSEXE 50,000, 000& 50,000
N2, sHEZZE X & 496,400,000 * 1A 496,400
03 Al 2 THHI 3,600 1,440 2,160
Nz, sHEEs 82 % 3,600,000 1Al 3,600
N2 FHIAMY 100,000 30,000 70,000
SHEZZ HHIALY 100,000 30,000 70,000
401 Al HIZ 2018 100,000 30,000 70,000
01 A& HI 99,100 30,000 69, 100
NEZ |2, FH(E2E L HH+==2)
49,550,000 » 14! 49,550
NS, sHEZZ FU(HLAZ M HNAIL)
49,550,000& » 14! 49,550
03 A& S THHI 900 0 900
NEZ |22, FH(E2E L Hi+==2)
450,000 » 14! 450
NS, sHEZZ FU(NHLZ M M AIL)
450,000 » 14! 450
AEE H=swE MAH K& 16,188,296 14,326,970 1,861,326
= 3,376,000
< 2,737,882
s 10,074,414
dEE 4 Hsnsd 725 5,211,460 5,187,989 23,471
= 76,000
< 337,882
s 4,797,578
Nsdd g4 33,808 48,053 N 14,245
201 LBr2EH| 17,808 10,108 7,700
01 At 2t 2l 10,888 10,108 780
1)2 g 10,388
RNEHH ALEF O4AY|
7,000% 49 x 1462 4,088
)EE ALUY L
7,000 *90H 52 13| 3,150
D)EMUT LU 48
,000& x90H x5 x13] 3,150
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500,000 500
02 Z2=2=2494| 6,920 0 6,920
N2222 2 MA 1,220
)M K= KHA 260,000& = 1LH 260
DY BEE 800,0002! *1CH 800
Y BANLRLS
80,000« 10 *23] 160
NXE 29| 5,700
VXS K 24| 2,000,000 «1CH 2,000
2)X 2 K=l 22,0002 E1+1,850& ~1CH 3,700
202 o4 | 16,000 16,000 0
01 2Ll 16,000 16,000 0
1)=LH O H] 16,000
RNEHF ALEF 2UH0HY|
50,000 x4 %803 16,000
ANEE NS S50 Xd 1,910,000 2,444 000 A 534,000
307 gizto| A 1,910,000 2,444 000 A 534,000
09 2LHHEXZ 1,910,000 2,444 000 A 534,000
NAEENsSI SFUHAH 1,910,000,000& 1,910,000
HAZSEMH =& 2,954 652 2,479,759 474 893
= 76,000
=} 337,882
= 2,540,770
101 21 214| 5,700 5,700 0
04 JIZtHIZ22XNSES 5,700 5,700 0
NAHS MHatE 2IHA 2HFIIA 522L2S
60,000 x052! x 1 5,700
201 et 303,557 282,378 21,179
01 AP 2t 2] H| 14,100 14,100 0
1) B2 H| 4,000
2) 2 HAHE 1,000,000 x4CH 4,000
Neg4g 5,200
2)2HA 29O EALG
100, 0003 23| x26H 5,200
1)1 24| 4,900
2028 HA 2HEIIA 222 R (=5HE)
35«29 %70, 000 4,900
02 B32ZH| 289,457 268,278 21,179
1)2222Y% 200,077
2) XS XA 241,040 =410H 9,883
)28 2 4 553,875 4104 186,709
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Q)8 ESHZ2 85,000 *41CH 3,485
1) X2k 8| 82,000
O)XNSEHRANLADEH 2,000,000 41CH 82,000
N2AHA ASRHMALE ASHLE
180,000 ~41CH 7,380
206 M = dl 25,000 32,000 AT7,000
01 X2 8| 25,000 32,000 AT7,000
1NN sSHEHA QI WEIIEME L
o2 X 25,000,000 14! 25,000
307 QI2t0| ™ 1,777,631 1,148,865 628,766
02 AI2tAAMAIE E =X 1,566,431 1,037,665 528,766
12L& AR 0124H] K& (449)
987,360,000 987,360
NFIAMNEXNEZQE X2 (44Y)
57,200,000 57,200
N2EIIA ASE 2 KA (449)
61,875,000 61,875
N2HIAF HE X £=5(44Y) 39,996,000 39,996
N29HA SFM X2 (3601) 390,000,000 390,000
NYS 0I2HA 298 XK (60H)
30,000,000 30,000
09 2LHHEXZ 211,200 111,200 100,000
NsHEHA 2Z28 22 HEXL
150,000,000 150,000
NHA SsSH A 1,700,000 =30 x12& 61,200
308 AMXISHMSOIA 254,000 0 254,000
= 76,000
o= 76,000
= 102,000
07 MIXSHHM2REESS S 254,000 0 254,000
1)SE-POH-H Aot ZAB|ISTEALS
254,000,000 254,000
= 76,000
& 76,000
= 102,000
402 SI2vXH=20| ™ 523,764 880,816 A 357,052
o= 261,882
= 261,882
01 QIZEXIE2AIE 2 X 523,764 880,816 A 357,052
NsHEHA HEXH 429,380,000 429,380
&< 214,690
= 214,690
NEIEA 2ABAZ I 94 ,384,000& 94,384
= 47,192
= 47,192




2AM: ST AN
M OfEE HEsws MAH HA
oelr MEE SN HEREY 75 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 RHoHE S HI 65,000 130,000 A 65,000
01 AL EZFH S 65,000 130,000 A 65,000
NX=AN SEHA 2 65,000, 000& * 14! 65,000
s M3 N 313,000 212,832 100, 168
307 21201 A 313,000 105,200 207,800
02 QAHFAAHEX 313,000 105,200 207,800
NotsSsEASH e X 240,000, 000& 240,000
NSLE A 2UHELS 73,000,000 73,000
el wEXMAH Mo 10,889,840 9,065,420 1,824,420
= 3,300,000
= 2,400,000
s 5,189,840
M OF2t2g =2 1,205,000 1,759,500 A 554,500
307 glz2tol & 1,205,000 1,759,500 A 554,500
02 I HAMHEE 1,205,000 1,759,500 A 554,500
NS orzt2s Ex232 XI& 945,000,000 945,000
NEMN MEZE &8 WE X 150,000, 000& 150,000
Nedz 248 st2d FII28 N
110,000, 000& 110,000
A2 4d &4 22 1,840 1,840 0
201 £B-2dH| 1,840 1,840 0
01 At 22l 1,840 1,840 0
1) Bt =] 1,840
2)EH2E EESMHE 40,0003 +2& 233 1,840
g d &d 23d N 1,083,000 894,000 189,000
307 21201 A 126,000 103,000 23,000
02 LB AAHEX 126,000 103,000 23,000
DESH B L T MAPHE A
126,000,000 126,000
402 QIZ2FXt20l ™ 957,000 791,000 166,000
01 A=A EX 957,000 791,000 166,000
NS B L T8 2 N
957,000, 000& 957,000
HFUHBLE2 XA 8,000,000 6,099,000 1,901,000
= 3,000,000
= 2,250,000
[ 2,750,000
307 glz2+ol & 7,700,000 6,099,000 1,601,000
= 3,000,000
< 2,250,000
i 2,450,000




2AM: ST AN
M OfEE HEsws MAH HA
S s nSHAH HE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 YAFLAANFEE 7,700,000 6,099,000 1,601,000
NUHEHXSE 22 BX 7,500,000,000& 7,500,000
= 3,000,000
< 2,250,000
[ia 2,250,000
Nalorzol o2 d 2R 200,000, 000& 200,000
401 Al&HI & 28I 300,000 0 300,000
01 A& HI 300,000 0 300,000
NOUM SUXY HLAAY 2E
300,000,000& 300,000
42N 600,000 311,080 288,920
= 300,000
< 150,000
fia 150,000
307 glz2tol & 600,000 311,080 288,920
= 300,000
= 150,000
i 150,000
02 It MNAMHEE 600,000 311,080 288,920
NEFonE2A XA 600,000,000 600,000
= 300,000
< 150,000
[ia 150,000
wEAMD &=010 =2 71,436 66,001 5,435
WE(MZHAILD XS HHALE &X 53,596 53,596 0
201 Let24E] 23,596 23,596 0
01 At 22l 4,000 4,000 0
1) B2t 4,000
)W SHMAL S (LY E CC-TV) =
800, 000& x50 A~ 4,000
02 =24l 19,596 19,596 0
Na3232 2 MA 19,596
QINEHTALEE HIILB
15,000 430 A+ 123 7,740
2)NSATAILZ cctvEUR S
38,0003 263 & 128 11,856
401 Al& HI & 28I 30,000 30,000 0
01 A& HI 30,000 30,000 0
NWE o™ AIE2 &X 30,000,000& =14 30,000
WS OHMAH QL AAl 17,840 12,405 5,435
201 Let2d ] 17,840 12,405 5,435
01 At 22l 8,240 8,240 0
1) Bt =] 8,240
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2N
X ZH -
L= B

el

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
OrXM Al A 22| 262,000 262,000
= 131,000
= 131,000
20l Es3E A 262,000 262,000
= 131,000
= 131,000
401 AlEHIZL 2 0HY| 262,000 262,000
= 131,000
= 131,000
01 Al&H| 260,114 260,114
1o 8539 He 121,122,000 121,122
= 60,561
= 60,561
120125 CCTV & X 138,992,000 138,992
= 69,496
= 69,496
03 AlE 201 1,886 1,886
1ol 8539 He 878,000 878
= 439
= 439
1 2I0lES CCTV & X 1,008,000& 1,008
= 504
= 504




